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QUESTION PAPER: |

WRITTEN TEST OF 9 POSITIONS FOR 1400+ AND 2700+ RECRUITMENT ASSIGNMENTS UNDER
NHM, UTTAR PRADESH
WRITTEN TEST HELD ON JANUARY 24, 2021 (Session-I)

Section I: Logical Reasoning (Verbal), General Awareness and Current Affairs

1.  Fiveboys A, B, C, D and E are standing in a row. D is on the right of E. B is on the left of E but on the
right of A. D in on the left of C, who is standing on the extreme right. Who is standing in the middle?
UadSH A, B, C, DIRETRURh A @S &I D, E & ars 3R g1 B, E & a18 3R §, afchT A & a8 3tk &1 D, C & a1s 3R
&, St GeheH arg 3R @Sl g1 &< # i @e1 8?2
[Question ID = 101]

(A) B/ B [OptionID =801]
(B) C/C[OptionID =802]
(C) D/ D[OptionID =803]
(D) E/E[OptionID =804]

Correct Answer:-

(D) E/ E [Option ID = 804]

2. If'T" means (x), ‘U’ means (-), ‘X’ means (+) and W means (+), then will be the value of the following
expression. (50 X 2) W (28 T 4)
gfe ‘T w1 ard g (x), 'U '@ ard g (-), X' a1 a1 g (+) IR W aht a1 & (+) , ot Fmfarfa sifereafh o1 gear = ghmi

(50X2)W (28 T4)

[Question ID = 102]

(A) 142 /142 [Option ID = 805]
(B) 158/ 158 [Option ID = 806]
(C) 137/137 [Option ID = 807]
(D) 163/ 163 [Option ID = 808]

Correct Answer:-
(C) 137/ 137 [Option ID = 807]

3. Barunis taller than Sanjay. Bipul is taller than Barun. Krishna is also not as tall as Bipul but is taller than
Barun. Who is the tallest?
o Hord § el g1 fogel a2 9 el g1 Hom ot forget fSia=T e =161 & uRg 1% & el & | Ted el hiel 87
[Question ID = 103]
(A) Barun /s [Option ID = 809]
(B) Bipul / fsger [Option ID = 810]
(C) Krishna / g™ [Option ID = 811]
(D) Sanjay / &s/™ [Option ID = 812]

Correct Answer:-
(B) Bipul / faget [Option ID = 810]

4. Inacertain code language ‘MADRAS' is written as ‘DAMSAR’, how can ‘MUMBAI’ be written in that code
language?
U (g @t w1 § '"MADRAS' @t 'DAMSAR' forRar SirdT g, dt 3T @i 9meT & 'MUMBAL' @t & foaT ST dehdT &2
[Question ID = 104]

(A) BAIUMM / BAIUMM [Option ID = 813]
(B) MUMIAB / MUMIAB [Option ID = 814]
(C) IABMUM [/ IABMUM [Option ID = 815]
(D) MBIAUM / MBIAUM [Option ID = 816]
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Correct Answer:-
(B) MUMIAB / MUMIAB [Option ID = 814]

5. Ifin a certain code language ‘RAMESH’ is written as "HSEMAR’, then how will ‘CREATE’ be written in that
language?
gfe U Af9d sts amer & 'RAMESH' @t "THSEMAR' forar STrar 8, at 39 9o & 'CREATE' &bt & forar smam?
[Question ID = 105]

(

>

) TEACRE / TEACRE [Option ID = 817]
(B) ETAECR / ETAECR [Option ID = 818]
(C) ETAERC /[ ETAERC [Option ID = 819]
(D) ETACRE / ETACRE [Option ID = 820]

Correct Answer:-
(C) ETAERC / ETAERC [Option ID = 819]

6. Arrange the following words according to English dictionary. 1. Episode 2. Epistle 3. Episcope 4.
Epigraph
ffeifad el ot SiTSh Lregenler & SITUR afedd & 1. Episode 2. Epistle 3. Episcope 4. Epigraph
[Question ID = 106]

(A) 1,23,4/1,23,4[Option ID = 821]
(B) 4,2,1,3/4,2,1,3 [Option ID = 822]
(©) 3,21,4/3,21,4 [Option ID = 823]
(D) 4,3,1,2/4,3,1,2 [Option ID = 824]

Correct Answer:-
(D) 4,3,1,2 / 4,3,1,2 [Option ID = 824]

7. Awoman said to a man, “The daughter of your only sister is the sister of my husband.” what is the
relation of man’s sister to the woman?

Tk Higell A Ueh YN & hgl, " 3ATUch! YehATS a5 oY Gt BR Ufdy <l I8+ 81" GoW Y a8 ot Afgelt d o Teiyy 82
[Question ID = 107]

(A) Mother [ #|rdr [Option ID = 825]

(B) Mother-in-law / @& [Option ID = 826]

(C) Datainadequate / ST 379gi [Option ID = 827]
(D) None of these / 378 & @&i3 Fgf [Option ID = 828]

Correct Answer:-

(B) Mother-in-law / &1 [Option ID = 826]

8. Aman walks 6 km South, turns left and walks 4 km, again turns left and walks 5 km. which direction is
he facing now?
Qeh Af<h 6 foRHT &feroT i SR TeraT §, 14 J2dT ¢ 3R 4 fohrlt Ierar , fthe @ &Y SiR J3d1 8 iR 5 fohelt Ietar g1 o1 a8
fore fam &t 3R 82
[Question ID = 108]

(A) South / gf&ur [Option ID = 829]
(B) North /3R [Option ID = 830]
(C) East/gd [Option ID = 831]

(D) West / ufg® [Option ID = 832]

Correct Answer:-
(B) North / 3= [Option ID = 830]
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9.  Find the odd word that does not belong to the group?
39 faww g ol @i St g @ Geifdd 78l 81
[Question ID = 109]
(A) 1/I[OptionID =833]

(B) J/)[OptionID = 834]

(C) K/K[OptionID =835]

(D) L/L[OptionID =836]

Correct Answer:-
(A)I/1[Option ID = 833]

10. Austria: Vienna
siffear: fagmn

[Question ID = 110]

(A) Pakistan: Lahore / dtfehta: @TeR [Option ID = 837]
(B) Egypt: Cairo / fa=: a1fg=r [Option ID = 838]

(C) USA: Orlando / gudg: siRkeist [Option ID = 839]

(D) Germany: London / S+t &g [Option ID = 840]

Correct Answer:-
(B) Egypt: Cairo / fa=: @rfgr [Option ID = 838]

11.  The ‘Cannes Award’ is given for excellence in which field?
forT & 7 IpEdT & oy ' QRERR’ T ST &2
[Question ID = 111]
(A)  Films / fes [Option ID = 841]

(B) Journalism / geRIRar [Option ID = 842]

(C) Literature / @ifgsd [Option ID = 843]

(D) Economics / 3rd=me [Option ID = 844]

Correct Answer:-
(A) Films / fthef [Option ID = 841]

12. Pulitzer prize is awarded for outstanding work in the field of

1 &5 & IpE S &g Gfereor [REhR § IeATAd fohaT ST 8
[Question ID = 112]

(A) Science and Technology / fa= Ta Tenfieht [Option ID = 845]
(B) Environmental Studies / gaiexur 3tez@= [Option ID = 846]

(C) Literature and Journalism / T1fg Td gaahIRar [Option ID = 847]
(D) International Understanding / ia=Tgta @&gr [Option ID = 848]

Correct Answer:-
(C) Literature and Journalism / &g Td garaiiar [Option ID = 847]

13.  Which among the following is the smallest Human Chromosome?
ffofea & 9 & a1 71a TR 999 Stel 8?
[Question ID = 113]

(A) Chromosome 10 / UG 10 [Option ID = 849]
(B) Chromosome 16 / orgs 16 [Option ID = 850]
(C) Chromosome 20 / Torgs 20 [Option ID = 851]
(D) Chromosome 21 / urga 21 [Option ID = 852]

Correct Answer:-
(D) Chromosome 21 / Torga 21 [Option ID = 852]
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14. Headquarters of International Labour Organization ( ILO) is situated at ___
SRS 91H 16 (Smdyeten) s qearerd R QA g
[Question ID = 114]
(A) Paris [ aRk@ [Option ID = 853]

(B) Frankfurt / tharthe [Option ID = 854]

(C) Geneva / fS=ar [Option ID = 855]

(D) New York / =g ardh [Option ID = 856]

Correct Answer:-
(C) Geneva / fS=a1 [Option ID = 855]

15. The Centre for Cellular and Molecular Biology is situated at
P g siurfaes Sfiq o ar dhg A A a8
[Question ID = 115]

(A) Patna / gedT [Option ID = 857]

(B) New Delhi /=g f&e=it [Option ID = 858]
(C) Hyderabad / g&r@me [Option ID = 859]
(D) Mumbai / §&i€ [Option ID = 860]

Correct Answer:-
(C) Hyderabad / g&zreTe [Option ID = 859]

16. The Chamera Dam is located in which State/UT?
IR I fohg T /Sheg il v A R 82
[Question ID = 116]

(A)  Puducherry [ gg={t [Option ID = 861]

(B) Uttar Pradesh / 3w wesT [Option ID = 862]

(C) Himachal Pradesh / fgamaa wesr [Option ID = 863]
(D) Jharkhand / IrREE [Option ID = 864]

Correct Answer:-
(C) Himachal Pradesh / fgarae udsr [Option ID = 863]

17.  Which port is known as Queen of Arabian Sea?
g deTIg ol 9RE IFR &6l IFT & U H ST SI1ar 82
[Question ID = 117]

(A) Vizag port / argei siawmmg [Option ID = 865]
(B) Paradip port / URTEIY siczmg [Option ID = 866]
(C)  Kochi Port / @if<a sexmg [Option ID = 867]
(D) Mumbai Port / §s siezmg [Option ID = 868]

Correct Answer:-
(C) Kochi Port / @if<a siezamg [Option ID = 867]

18. Who among the following has discovered X-rays?
ffofea 7 9 fhem gag-} i @it &l 82
[Question ID = 118]

(A) Marie Curie / &% =gt [Option ID = 869]

(B) J.J. Thomson / St. &. °f#g+ [Option ID = 870]

(C) W.C.Roentgen / s . 1. JgeaA [Option ID = 871]
(D) James Chadwick / Si#q arefdes [Option ID = 872]

Correct Answer:-

(C) W.C. Roentgen / €seg . €1, A4 [Option ID = 871]
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19. Who among the following founded “National Herald"?
fFaffEa d @ fhem " Mt aRIes " Y TITUAT fi?
[Question ID = 119]

(A) Bal Gangadhar Tilak / aTet TimeR faeies [Option ID = 873]
B) Mahatma Gandhi / #gredT el [Option ID = 874]
)
)

(
(C) Jawahar Lal Nehru / S/amgr &ret 9g% [Option ID = 875]
(D) Indira Gandhi / 3f¢zr mieft [Option ID = 876]

Correct Answer:-
(C) Jawahar Lal Nehru / STateR @t 48 [Option ID = 875]

20. Who among these has been honored with the 2020 Asia Game Changer Award?
4 & ford 2020 T 1 IR qRERR & gHATAd fohar mar 82
[Question ID = 120]

(A) Sonu Sood / & & [Option ID = 877]

(B) Virat Kohli / faRTe @igeft [Option ID = 878]
(C) Vikas Khanna / faem @1 [Option ID = 879]
(D) Narendra Modi / #%g #tét [Option ID = 880]

Correct Answer:-
(C) Vikas Khanna / faers @@= [Option ID = 879]

21. Puskas Award is associated with the game of

J&hd QRER 1 @ T 58T 8
Question ID = 121]

[

(A) Football / Besife [Option ID = 881]

(B) Cricket / fehdhe [Option ID = 882]

(C) Badminton / sefdiest [Option ID = 883]
(D) Tennis / ¢4 [Option ID = 884]

Correct Answer:-
(A) Football / gedieT [Option ID = 881]

22. Chetan Chauhan who has passed away recently was a former player of which sports?
T digH fSirent e g1eT 81 | go, a8 fohd @« & gd Raerst 92
[Question ID = 122]

(A) Football / Besife [Option ID = 885]
(B) Cricket / fehdhe [Option ID = 886]
(C) Golf / e [Option ID = 887]

(D) Hockey / gfeht [Option ID = 888]

Correct Answer:-

(B) Cricket / fehche [Option ID = 886]

23.  Which institute has developed the first ICMR-approved mobile RT-PCR lab?
fohe HXUT A ugell SMSHITHSIR- SrHIfed AlaTse SIRE-UESR Taiieme faefad &l g2
[Question ID = 123]

(A) AIIMS / g=g [Option ID = 889]

(B) IIT-Guwahati / mEamsél-Targrél [Option ID = 890]

(C) MT-Delhi / smgsmédt-Reeh [Option ID = 891]

(D) IISC-Bengaluru / SMSSMEUeE-aee [Option ID = 892]

Correct Answer:-

(D) IISC-Bengaluru / SSAETEEl-s1qe [Option ID = 892]
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24. Who launched Operation Samudra Setu?

TR g 9 fohae = foram ar?

[Question ID = 124]

(A) Indian Army / TRt 941 [Option ID = 893]

(B) Indian Navy / ¥TRdRg A94T [Option ID = 894]
(C) Indian Air Force / ¥Rda arg &1 [Option ID = 895]
(D) NITI Aayog / fifar s [Option ID = 896]

Correct Answer:-

(B) Indian Navy / ¥TRda =141 [Option ID = 894]

25. ANANDA is a digital application launched by which organization recently?
g1 8t # fohd TTa+ gRT '31aT AT U fefSieet Tweiicher & fonar mar 82
[Question ID = 125]

(A) LIC / gatamsdt [Option ID = 897]
(B) RBI/ 3m=dftamg [Option ID = 898]
(C) SEBI/ @it [Option ID = 899]

(D) SBI/ ugsitams [Option ID = 900]

Correct Answer:-
(A) LIC / Teramsdt [Option ID = 897]

26.  Which country has topped the Global Economic Freedom Index 2020?
fohe &1 7 Afer amfefen Tacsrar Gaenicn 2020 # <ftef = U foma 82
[Question ID = 126]

(A) Singapore / f&MgR [Option ID = 901]
(B) Hong Kong / gl [Option ID = 902]
(C) Germany / S+ [Option ID = 903]
(D) Finland / fhiets [Option ID = 904]

Correct Answer:-
(B) Hong Kong / gfiTerit [Option ID = 902]

27. Which country has recently joined the IMF as its 190th member?

g1 &1 H SMETHTH o 190 I GG & & | ohl- T &30 ATH 3T 82
[Question ID = 127]

(A) Andorra [ 48Rt [Option ID = 905]

(B) Armenia / sHifar [Option ID = 906]

(C) Iran /3 [Option ID = 907]

(D) Madagascar / #ermEex [Option ID = 908]

Correct Answer:-
(A) Andorra / GERT [Option ID = 905]

28.  Which country hosted the 12th BRICS Summit in 2020?
fohe g1 2020 & 124t oo wier smaifSia fohar om?
[Question ID = 128]

(

>

) Russia /[ =4 [Option ID = 909]

(B) India / ¥Rd [Option ID =910]

(C) South Africa / &féror srshiest [Option ID = 911]
(D) Nepal / 7uret [Option ID = 912]

Correct Answer:-
(A) Russia / =& [Option ID = 909]
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29. The Ministry of Housing and Urban Affairs (MoHUA) has partnered with which foodtech company to
take street vendors online?
T G g AT oh HATed (THSNTEYR) = ¥I Te fasharsil &l siierrs o o foig fohg Geden dhueit & ary
qrgiert & §?
[Question ID = 129]

(A) Swiggy / i@t [Option ID = 913]

(B) Zomato / SfHTet [Option ID = 914]

(C) Uber Eats / 38R 38 [Option ID = 915]
(D) Food Panda / %< uier [Option ID = 916]

Correct Answer:-

(A) Swiggy / f&ft [Option ID = 913]

30. India’s first sandalwood museum has been unveiled in which city?
YRA & U b1 GUGTAT ohl SHTaRYT foha 18R & foha mar €72
[Question ID = 130]

(A)  Mysuru [ #5% [Option ID = 917]

(B) Hyderabad / g&r@me [Option ID = 918]
(C) Chennai [ 3=13 [Option ID = 919]

(D) Bhubaneswar / @R [Option ID = 920]

Correct Answer:-
(A) Mysuru / 85 [Option ID = 917]

Section II: Domain-Specific Questions

31. Thevarious methods of intrapartum fetal monitoring includes all except
ZSTATER Ul <l FRI & fafS= aient & F+ft enfaet 8, Rrama
[Question ID = 131]
(A) Fetal scalp stimulation test / o1 &I @TS! I<wHT U=teroT [Option ID = 921]
(B) Fetal pulse oximetry / ot ued Sifeiiaet [Option ID = 922]
(C) Fetal blood sampling / %ot & 3= &1 AT [Option ID = 923]
(D) Braxton Hicks contractions / siere= fga si-¢aM [Option ID = 924]

Correct Answer:-

(D) Braxton Hicks contractions / siasteT fga df-¢as™ [924]

32. During active management of labour injection ergometrine is contraindicated in which of the following
conditions
g HeT SR & Afchd UeiYH & G @iiAfed i Feforiea fRafoat 7 @ foras segrefSdhe forar Srar &
[Question ID = 132]

(A) Primigravida / urgHfaer [Option ID = 925]

(B) Severe eclampsia / TR Taet=af@ar [Option ID = 926]

(C) Prolonged labour / e wra dter [Option ID = 927]

(D) None of the above / IuRI<h & @ @IS gl [Option ID = 928]

Correct Answer:-

(B) Severe eclampsia / TR gaetmfaar [926]
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33. The fetal movement felt by the mother is called
HATAT GRT AGYH <hl ST YOT hl §eTdel ol A+ gl ST &
[Question ID = 133]
(A) Braxton Hicks contractions / e fgat api=¢arM [Option ID = 929]
(B) Quickening / faresf= [Option ID = 930]
(C) Goodell’s sign / T« Fehd [Option ID = 931]
(D) Hegar's sign / R "ahd [Option ID = 932]

Correct Answer:-
(B) Quickening / faaefT [930]

34. Fetal tachycardia is caused due to all of the following factors except

o1 ferrgegar fFmfafed g+t Rl & wRoT ghar g, f&ar
[Question ID = 134]

(A) Maternal or fetal anemia / AT a1 Yo GifAAT [Option ID = 933]
(B) Maternal or fetal infection / AT a1 YuT HehHUT [Option ID = 934]
(C) Severe Fetal hypoxia / 7+ oot grgutferiar [Option ID = 935]
(D) Fetal compromise / 4ot @SS [Option ID = 936]

Correct Answer:-

(C) Severe Fetal hypoxia / 7R o1 grguiferyar [935]

35. Fetal blood sampling is contraindicated in which of the following conditions
U1 & Th ol AT fAferfed fafaat & & forg & ufafee &t st &
[Question ID = 135]
(A) HIV positive women / ggamsdt gifsifed afger [Option ID = 937]
B) Thick meconium stained liquor / #té #aifaaa sifeRfSid ferz [Option ID = 938]

C) Atypical and abnormal tracing on Electronic Fetal Monitoring / Seiargies o1 AT o SR fafes ok
SETYRUT SR@UT [Option ID = 939]
(D) All the above / IuRI<h & gt [Option ID = 940]

Correct Answer:-

(A) HIV positive women / qasmsd! difsifea afger [937]

36. A family planning measure of using a Diaphragm or Dutch Cap is called
ST T S HU T IUTNT A oh URAR s Iurd et A+ gt Srar @
[Question ID = 136]

(A) Natural method / Utepfares fafer [Option ID = 941]

(B) Barrier method / @R faf& [Option ID = 942]

(C) Intra uterine contraceptive device / 3faxT TR THfARIer Iuahor [Option ID = 943]
(D) Calendar method / etz fafdr [Option ID = 944]

Correct Answer:-
(B) Barrier method / afa= fafer [942]

37. Any bleeding from or into the genital track after the period of viability but before the birth of the baby is
called

Sfte & ht S1afY o 16 a1 <3 oh ST7H 8 gd ST 0 & 31 394 fonddt +ff Twhara &l e &gt Sirar 8
[Question ID = 137]

(A) Antepartum haemorrhage / Géarés gast [Option ID = 945]
(B) Intrapartum haemorrhage / $2TaTéd gaRsT [Option ID = 946]
(C) Postpartum haemorrhage / dieurén gast [Option ID = 947]
(D) All the above / IWRI<h & Gt [Option ID = 948]
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Correct Answer:-

(A) Antepartum haemorrhage / G&UTER gaRsT [945]

38. The clinical features of first stage of labour includes all except

g dteT & ugel IRoT i At faiwdret # aaft enfae g, Ram
[Question ID = 138]

(A) Effacement of cervix / Tfrr et at shreAT [Option ID = 949]

(B) Contractions every three to five minutes / & di9 & u= fi=e & g+ [Option ID = 950]
(C) Minimal descent of presenting part / Iufed ¥R &l gAdH 37eR1guT [Option ID = 951]
(D) Sudden gush of vaginal bleeding / @A Th&a &1 a1 §g@ [Option ID = 952]

Correct Answer:-
(D) Sudden gush of vaginal bleeding / @i TaIa &1 ast SgT@ [952]

39. Crowning occurs in

T A= dgars

[Question ID = 139]

(A)  First stage of labour / u=/@ UtST &1 Uger a=oT [Option ID = 953]
(B) Second stage of labour / g&a UteT T gERT =RUT [Option ID = 954]
(C) Third stage of labour / 7@ UtST T d¥RT =ROT [Option ID = 955]
(D) Forth stage of labour / w&a e ar @taT T=or [Option ID = 956]

Correct Answer:-
(B) Second stage of labour / T&a UIST a1 G&RT =0T [954]

40. The immunity an individual develops after acquiring an infection is called

TehHUT UTWT hed o aTe aaf<h ot ufarer fafAa gidt 8, I8 seTSirar &
[Question ID = 140]

(A)  Active immunity / Gferg ufarer [Option ID = 957]
(B) Passive immunity / ffssha afazer [Option ID = 958]
(C) Herd immunity / Srfge ufarer [Option ID = 959]
(D) All the above / IuRI<h & gt [Option ID = 960]

Correct Answer:-
(A) Active immunity / afeha afarem [957]

41. The equipment used to carry small quantities of vaccines for out reach programme is called
TG PRIshH &g DIET AT | €lch of ST oh felg ITANT fohy ST aTet IYSHRUT i gl STTaT &
[Question ID = 141]

(A)  Walk in freezers [ are 3 thisR [Option ID = 961]
(B) Walkin coolers / dreh 3 geRR [Option ID = 962]
(C) Vaccine carriers [ 3= &iaR [Option ID = 963]
(D) Ice packs / 31m3d @& [Option ID = 964]

Correct Answer:-
(C) Vaccine carriers [ de=i9 Sz [963]

42. The major cause of nutritional blindness in children usually between the age of 1 - 3 years is called
1 - 3 a9 &t 37g o s o el J UoT-Heel SiUTue o U@ HIROT i hgl SIIdT &
[Question ID = 142]

(A) Xeropthalmia / SRtg«f@s1 [Option ID = 965]
(B) Night blindness / Zdieft [Option ID = 966]
(C) Blindness / g+ [Option ID = 967]
(D) None of the above / 3uRI<h & & @IS gl [Option ID = 968]
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Correct Answer:-
(A) Xeropthalmia / SRYu=fA31 [965]

43. The poisoning caused due to ingestion of foods contaminated by living bacteria is all except
Shiferd Sfemugsii gRT gf¥d @rer ueryf & agur & wRUT g arel! fawrhar g+t 8, fam foh
[Question ID = 143]

(A) Salmonella poisoning / STerHaT faurhdr [Option ID = 969]

(B) Staphylococcal poisoning / @ fthatenteret fasmehdr [Option ID = 970]
(C) Botulism / digfeis® [Option ID = 971]

(D) Chemical poisoning / T fasm=hdr [Option ID = 972]

Correct Answer:-
(D) Chemical poisoning / Ir&mafes fawmhdr [972]

44. Varicella vaccine is a
IReprer dadfi= &
[Question ID = 144]

(A) Killed vaccine / 7d feert [Option ID = 973]

B) Live attenuated vaccine / Sfifaa 9-epd féept [Option ID = 974]
)
)

(
(C) Immunoglobulin / s&gANAgf [Option ID = 975]
(D) None of the above / IWRi<h & & &I gl [Option ID = 976]

Correct Answer:-

(B) Live attenuated vaccine / Sifad agd et [974]

45. The route of administration of measles vaccine is

TR & Etch ol YT AFT &
[Question ID = 145]

(A) Intradermal / siaca [Option ID = 977]
(B) Subcutaneous / /@@ [Option ID = 978]
(C) Intramuscular / siadsfa [Option ID = 979]
(D) Oral / #if@&a [Option ID = 980]

Correct Answer:-
(B) Subcutaneous / stacia [978]

46. The incubation period of mumps is
A I SFHIA afd 8
[Question ID = 146]

(A) 0to1week /0¥ 13wrg [Option ID = 981]

(B) 1to2weeks /1% 23wrg [Option ID = 982]
(C) 2to4 weeks /234 Tw@rg [Option ID = 983]
(D) 5to 8 weeks /5% 8 Twrg [Option ID = 984]

Correct Answer:-
(C) 2 to 4 weeks / 2 & 4 gurg [983]

47. The antiviral drug used to treat influenza is
ZIRIGSTT & JUAR &g IUFNT Fl ST aTelt GEaRRS &aT &
[Question ID = 147]

(A)  Acyclovir / 3dia=ttdiR [Option ID = 985]

(B) Oseltamivir / sfieer@far [Option ID = 986]

(C)  Imunovir [ SR [Option ID = 987]

(D) Zidovudine / SrEigg [Option ID = 988]

SAMS 2021 / PAPER -1 . Page 10 of 22
Free Downloaded From - www.exammix.com



Visit - www.exammix.com & Download : All Exam Previous Question Papers (Hindi & English)

Correct Answer:-

(B) Oseltamivir / si@<erfafar [986]

48. The vaccine preventable diseases that are caused by droplet infection are all except
BIEY g YhHUT o hRUT Bid INT Sil Eleh 8 Ak T ¢, o gt €, (e foh
[Question ID = 148]

(A) Meningococcal meningitis / Afenterer AfwTsfed [Option ID = 989]
(B) Whooping cough / @l @mt [Option ID = 990]

(C) Diptheria / fewfif@ar [Option ID = 991]

(D) Polio / giferat [Option ID = 992]

Correct Answer:-

(D) Polio / wiferat [992]

49. Which of the following is a blood borne disease
fAddaR T afFadre
[Question ID = 149]

(A) Hepatitis A / gdersfed A [Option ID = 993]
(B) Hepatitis C / gdersfeq C [Option ID = 994]
(C) Hepatitis E / #ter3fed E [Option ID = 995]
(D) All the above / IuRI<h & gt [Option ID = 996]

Correct Answer:-

(B) Hepatitis C / gtersfed C [994]

50. In children with diarrhea the main aim of ORS therapy is to
& O I <l B SRYY IR o1 T I5T 8
[Question ID = 150]

(A) Prevent dehydration / fASieiierzor et AT [Option ID = 997]
B) Reduce mortality / §J & et H &A1 [Option ID = 998]
)
)

(
(C) To correct water and electrolyte deficit / Ot 3R SaiarcicTge wHT &t Steh deAT [Option ID = 999]
(D) All the above / IuRi<h & g+t [Option ID = 1000]

Correct Answer:-

(D) All the above / IuRi<h & Taft [1000]

51. Ina person with cholera diarrhea occurs due to a toxin produced by the virus on multiplication in the
small intestine. The toxin produced by vibrio cholerae is
Qe cafxh B BIC 3ifd 7 faw] & gfg & I faw & shRUT &1 &% giaT ¢ | fafsrat slelt gRT 3o faw &
[Question ID = 151]

(A) Endotoxin / dsteifa= [Option ID = 1001]

(B) Enterotoxin / g=teifea [Option ID = 1002]

(C) Hepatotoxin / gdcteife’r= [Option ID = 1003]

(D) None of the above / IuRi<h & @ I3 =gl [Option ID = 1004]

Correct Answer:-

(B) Enterotoxin / T=Rieifaa [1002]

52. The cancer arising from mesodermal cells constituting the various connecting tissues is called
Aot ifARISH & I gid HER A fafer—=1 Farsht Sden! o1 e giar & foid e sgr Sirar 8
[Question ID = 152]

(A) Carcinomas / @11 [Option ID = 1005]

(B) Sarcomas / @eiad [Option ID = 1006]

(C) Lymphomas / eoHTE [Option ID = 1007]

(D) Leukeamias / sgehfaamd [Option ID = 1008]
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Correct Answer:-
(B) Sarcomas / Greriag [1006]

53. Blood glucose values above normal but below those diagnostic diabetes, occurring during pregnancy is
called

Th T T AT AT T SR & Ak 3 AaT-ch AgHg T -1 §, ST T & SR gidT &, 39 el 9idl &
[Question ID = 153]

(A) Type 1 diabetes / 2134 1 AgHg [Option ID = 1009]

(B) Type 2 diabetes / 2/3u 2 AigAg [Option ID = 1010]

(C) Gestational diabetes / T¥are 7 [Option ID = 1011]

(D) Insulin resistance syndrome / gfer ufaRte &g [Option ID = 1012]

Correct Answer:-
(C) Gestational diabetes [ Tfehrett AgAE [1011]

54. In a patient with perinicious anaemia the primary purpose of schilling test is to determine
ofAfar T hfar o A F fenfeit udteror ot urufies Iesa A RufRa s g
[Question ID = 154]

(A) Intake of vitamin B12 / fdeifd B12 &1 @&+ [Option ID = 1013]

(B) Absorption of vitamin B12 / faeif®= B12 &7 srasiwor [Option ID = 1014]
(C) Excretion of vitamin B12 / faeif@= B12 @1 3c8si4 [Option ID = 1015]
(D) None of the above / Iwi<h & @ &S g [Option ID = 1016]

Correct Answer:-
(B) Absorption of vitamin B12 / faeifa= B12 @1 srasnwor [1014]

55. Atype of fracture in which one fragment of the bone goes into another is called
Qeh UehR T TheraR [T Eg1 T Uoh ZohsT GOk H Il STIdT 8, S [+ hgl STIdT &
[Question ID = 155]

(

>

) Spiral fracture / TTEet tharar [Option ID = 1017]

(B) Transverse fracture / ggad tharer [Option ID = 1018]
(C) Oblique fracture / 3fifsetar thear [Option ID = 1019]
(D) Impacted fracture / /@S therar [Option ID = 1020]

Correct Answer:-

(D) Impacted fracture / s/aes tharar [1020]

56. Signs and symptoms of asthma include all except
SIEYHT o Hehl 3R &0 § Gt MiaeT g, Rama fon
[Question ID = 156]

(A) Shortness of breath / @i¥ &= # &f&-18 [Option ID = 1021]
(B) Fever [ g@r [Option ID = 1022]

(C) Wheezing / =ReRTge [Option ID = 1023]

(D) Chest pain / BTt & && [Option ID = 1024]

Correct Answer:-

(B) Fever [ @R [1022]

57. The signs and symptoms of Parkinson’s diesese is
UTfched 71 & Hehd 3R 18707 3
[Question ID = 157]

(A)  Tremors [ @ud [Option ID = 1025]

(B) Impaired postures and balance / faTTT g31 318 d dder [Option ID = 1026]
(C) Speech changes / dte & gRkad= [Option ID = 1027]

(D) All the above / IWRi<h & gt [Option ID = 1028]
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Correct Answer:-

(D) All the above / IwRih & d+ft [1028]

58. Infection of the urinary bladder caused by Escherichia coli is a type of bacteria commonly found in
gastro intestinal tract is called
GRARfRaT IS, At o7 g & AR TR UTY ST aTet S IRAT &l Ueh TR, foidch hiRoT § JATRM™ # Th vl gidT & 59
T ST &
[Question ID = 158]

(

>

) Pyelonephritis / dfethféd [Option ID = 1029]
(B) Cystitis / R%ersfed [Option ID = 1030]
(C)  Urethritis / gRermsfed [Option ID = 1031]
(D) Nephrotic syndrome / wifeas &g [Option ID = 1032]

Correct Answer:-

(B) Cystitis / Rreerafes [1030]

59. The most essential fatty acid that serves as a basis for production of other fatty acids is

qaY 3MTaRTeh thel TS St o theét URe & It & foll Teh SR & U H & hRdl g, 98 8
[Question ID = 159]

(A) Lineloic acid / feFieiiges T [Option ID = 1033]
(B) Transfatty acid / gi=thel Ui [Option ID = 1034]
(C) Butyric acid / sgfeRe gf&s [Option ID = 1035]
(D) Caproic acid / &mga TR [Option ID = 1036]

Correct Answer:-

(A) Lineloic acid / fem<ise tf@s [1033]

60. Vitamin D is largely stored in the body in
faeTfa €t i g5 do SRR A A= A dufga glar g
[Question ID = 160]

(A) Muscles / aigafmi [Option ID = 1037]

(B) Fatty tissues / 91 &deh [Option ID = 1038]
(C) Skin / = [Option ID = 1039]

(D) Gall bladder / fo=mer [Option ID = 1040]

Correct Answer:-
(B) Fatty tissues / 4T &deh [1038]

61. Fatsoluble vitamins are all except
a1 7 gemiter fqerfas g+t €, e fa
[Question ID = 161]

(A)  Vitamin A / faerfa= g [Option ID = 1041]
(B) Vitamin C / faerfa= &t [Option ID = 1042]
(C) Vitamin E / fd@f@a § [Option ID = 1043]
(D) Vitamin K / fae1f®= & [Option ID = 1044]

Correct Answer:-

(B) Vitamin C / faerfa= €t [1042]
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62. The clinical sign of Riboflavin deficiency is

AZTATI hY St T ATk Gohd §
[Question ID = 162]

(A)  Angular stomatitis / TR T™Tersfed [Option ID = 1045]
(B) Keratitis / @-iifamIner [Option ID = 1046]
(C) Pellagra / Gem [Option ID = 1047]
(D) Rickets / g@r T [Option ID = 1048]

Correct Answer:-

(A) Angular stomatitis / GTeR THTEEH [1045]

63. The richest source of vitamin Cis
faertee <t o1 9o ag Aa &
[Question ID = 163]

(A) Lemon / % [Option ID = 1049]

)
(B) Orange /[ a1 [Option ID = 1050]
(C) Amla / sHer [Option ID = 1051]
(D) Tomato / eH1eR [Option ID = 1052]

Correct Answer:-
(C) Amla / 3T [1051]

64. Thiamine deficiency results in

e it et & aRomaaey A= glar 8
[Question ID = 164]

(A) Cardiac Beriberi / @1f$ge st [Option ID = 1053]

(B) Infantile Beriberi / fi3[-gsfeft st [Option ID = 1054]

(C) Peripheral neuritis / aReffa =g=fes [Option ID = 1055]

(D) None of the above / 3ui<h & ¥ @13 &l [Option ID = 1056]

Correct Answer:-

(A) Cardiac Beriberi / sif$ua sts<t [1053]

65. A thorough investigation made to evaluate the overall nursing care received by a patient is called
[Question ID = 165]

(A) Nursing process / =¥ uferar [Option ID = 1057]

(B) Nursing Audit / af3 siffée [Option ID = 1058]

(C) Medical Audit / Riféreita siffée [Option ID = 1059]

(D) Nursing assessment / AR#T geaie [Option ID = 1060]

Correct Answer:-
(B) Nursing Audit / =iff siif$e [1058]

66. Patient fall due to improper application of restraints in the ICU is an act of

STEery 7 ufdeie & STfRIT STIFANT & hRoT A FRaT 8, a8 M= A1 a8
[Question ID = 166]

(A) Assault / 3mep#UT [Option ID = 1061]

(B) Battery / s [Option ID = 1062]

(C) Negligence / @maRarg! [Option ID = 1063]
(D) Fraud / giarerdt [Option ID = 1064]

Correct Answer:-

(C) Negligence / @Ta=aret [1063]
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67. While resuscitating a preterm baby, Positive Pressure Ventilation should be started with oxygen
concentration of

SqRuere fRAY] delt et gsiifad ehd A, SiTeritsi & v Figar & a1y uifaifed 9erR dfeeter g fhar s gy
[Question ID = 167]

(A) 21% /[ 21% [Option ID = 1065]
(B) 40% [ 40% [Option ID = 1066]
(C)  75% [ 75% [Option ID = 1067]
(D) 80% / 80% [Option ID = 1068]

Correct Answer:-
(A)21% [ 21% [1065]

68. International Nurses Day is observed around the world on

SR e fdag WM wRA mamrSar g
[Question ID = 168]

(A) 12th May / 12 ®& [Option ID = 1069]
(B) 16th May / 16 /3 [Option ID = 1070]
(C) 18th May / 18 65 [Option ID = 1071]
(D) 20th May / 20 /5 [Option ID = 1072]

Correct Answer:-
(A) 12th May / 12 915 [1069]

69. The most central and accessible artery to check pulse in children over one year of age is
Toh a9 O 31fAeh g & <l | ATSH hl STid e o T ha 1T IUT Ugd a1 4H-1 §
[Question ID = 169]

(

>

) Brachial / sifRaat [Option ID = 1073]
(B) Carotid / ifes [Option ID = 1074]
(C) Dorsalis pedis / €Rifersr 9f$d [Option ID = 1075]
(D) Popliteal / gifeerést [Option ID = 1076]

Correct Answer:-

(B) Carotid / &ifes [1074]

70. A patient is diagnosed to have insomnia. The term insomnia means

Uah A7t @t gl g1 ol FHare fopar Sirar &1 e1fAigT *1eg a1 3ref @
[Question ID = 170]

(A) Inability to think / €= & srewefar [Option ID = 1077]

(B) Inability to move / e fthet & arwefdar [Option ID = 1078]
(C) Inability to eat / @ & sra&far [Option ID = 1079]

(D) Inability to sleep / @R & sr#efar [Option ID = 1080]

Correct Answer:-
(D) Inability to sleep / @ & argwefar [1080]

71. The ideal position to provide mouth care for an unconscious patient is

Teh Jgir T o ol g Y S@wTet Ue et o forg srmesf feafa @
[Question ID = 171]

(A)  Fowlers position / ®wRerR f@&fd [Option ID = 1081]
(B) Lateral Position / urf f@fd [Option ID = 1082]
(C) Supine position / fa= f&fa [Option ID = 1083]
(D) knee chest position / geT-81dt ffT [Option ID = 1084]

Correct Answer:-
(B) Lateral Position / ursf f&afa [1082]
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72. The most preferred site of administration of intramuscular injection in children under one year is
Ueh aY 9 &Y 39 & g<al § SiquRiiT SiarM & TR &l Tad JddieT SH1g &
[Question ID = 172]

(A) Dorso Gluteal site / SREt 7[erget d15¢ [Option ID = 1085]
(B) Vastus Lateralis / a%d sezferd [Option ID = 1086]
(C) Ventro gluteal site / 3=t feaet ¥18¢ [Option ID = 1087]
(D) Deltoid site / Sweigs &T3e [Option ID = 1088]

Correct Answer:-
(B) Vastus Lateralis / 3% dexfera [1086]

73.  Major factors influencing an individuals blood pressure are all except

Ueh Af<h o WhdTd t THTAd e aTet U@ SReh 91 8, ffar fah
[Question ID = 173]

(A) Stroke volume / ¥ &t AT [Option ID = 1089]

(B) Venous return / fRTa%e & aroft [Option ID = 1090]

(C) Heart rate / g&a &I & [Option ID = 1091]

(D) Normal body weight / G™T=T RRR &I @S9 [Option ID = 1092]

Correct Answer:-
(D) Normal body weight / ST R &I @si [1092]

74. The drugs administered to promote uterine contractions are
TR & e ot FgraT & & forg unfig gard &
[Question ID = 174]

(A)  Oxytocin / Sifefteif@= [Option ID = 1093]
(B) Ergometrine / @irafe [Option ID = 1094]
(C) Misoprostol / fAgiuela [Option ID = 1095]
(D) Duvadilan / gafea™ [Option ID = 1096]

Correct Answer:-

(A) Oxytocin / Sifeitelf@= [1093]

75. Medication appropriate to treat an acute anginal attack is
Qe ditg TUSHTT Taeft gHet & IUAR 8 SUYRH &al §
[Question ID = 175]

(A) Propanalol / Wiuele [Option ID = 1097]

(B) Nadolol / Astetter [Option ID = 1098]

(C) Atenolol / @&tertat [Option ID = 1099]

(D) Nitroglycerine / geifiera™i= [Option ID = 1100]

Correct Answer:-

(D) Nitroglycerine / sgifrerad= [1100]

76. An essential micronutrient iodine is required for synthesis of which of the following hormones
f=fafea grfat | @ forg & dactvor & g g dives I S &Y smasaehdr gidt 8
[Question ID = 176]

(A) Goitre, Cretinism / TogaTa, shfefAsd [Option ID = 1101]

(B) Thyroxine, Triiodothyronine / UrRIfRH, gRSMTSIATARIAT [Option ID = 1102]
(C) Tyrosine, Thyroxine / TR, YrRIfRTA [Option ID = 1103]

(D) Trypsin, Thyroxine / f&f@=, arRifar= [Option ID = 1104]

Correct Answer:-

(B) Thyroxine, Triiodothyronine / uraRifeR, rEMTSIARRIFA [1102]
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77. Drug used to treat hyperkalemia is
BIEURGATIT & IUIR g SUTNT hl ST arell S8
[Question ID = 177]

(

>

)  Atenolol / g&terta [Option ID = 1105]

(B) Predinosolone / df&tater= [Option ID = 1106]

(C) Nitroglycerine / Aseifiera™i= [Option ID = 1107]

(D) Calcium gluconate / %feRrH Tfepi-e [Option ID = 1108]

Correct Answer:-
(D) Calcium gluconate / &feRrH refepte [1108]

78. Drugs used to treat nausea and vomiting are all except

Hdelt 3R I T IUAR & &g SUANT Y ST aTeft gard gt €, {ara fos
[Question ID = 178]

(A) Dopamine antagonists / SiumTEA Germfa%ed [Option ID = 1109]

(B) Serotonin receptor antagonists / ¥Rieif"= R¥wR germifaged [Option ID = 1110]
(C) Cannabinoids / &=Tfeigsd [Option ID = 1111]

(D) Calcium channel blockers / SfeRra® A9t sdiferd [Option ID = 1112]

Correct Answer:-
(D) Calcium channel blockers / hfe’rag a9 sated [1112]

79. The function of state nursing council is all except
TS AR uRwe 1 i a4t 8, ama fah
[Question ID = 179]

(A) Ensure proper training is given in the institutions / Semi # Ifa uferr f&g S ot gty s
[Option ID = 1113]

(B) Approve training institutions / UfR1&1oT TATHT vt SHIfEd AT [Option ID = 1114]

(C) Register all trained nurses and provide license to practice / @ ufiféra =4 el dsitepd T 3R Wfees
& forg @39 Y ueM ATl [Option ID = 1115]

(D) Provide employment to all trained nurses / @+t ufiférd 74 &t AR U&= &A1 [Option ID = 1116]

Correct Answer:-
(D) Provide employment to all trained nurses / @t ufif&ra 75T &t AR v A1 [1116]

80. Hypoxia may be caused by all the following factors except
fferaa a+ft Rel & HRUT gIRUIRTAT 8t UehdT 8, [¥ara foh
[Question ID = 180]

(A) Decreased Hemoglobin / geT g1 gieifed [Option ID = 1117]

(B) A respiratory problem / i &t g&&T [Option ID = 1118]

(C) Adecrease in blood supply to an area / Ter &3 # Ih <ht 3MYf< & AT [Option ID = 1119]
(D) Increased haemoglobin / giieifes # gfeg [Option ID = 1120]

Correct Answer:-

(D) Increased haemoglobin / gmtaifed & gfeg [1120]

81. A defensive reaction intended to neutralize, control or eliminate the offending agent and to prepare the
site for repair is called
SATEhTH TSl ht SR e, FRifd et a1 T et auT &1k et 8 AT8E AR e & IfeE &TTcH Ufdfehar ot gl
SIGIE
[Question ID = 181]

(A) Infection / €shHuT [Option ID = 1121]

(B) Inflammation / gs= [Option ID = 1122]
(C) Induration / ®aRieeor [Option ID = 1123]
(D) Insult/ 3rgAM [Option ID = 1124]
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Correct Answer:-
(B) Inflammation / g [1122]

82. Movement of hands towards midline of the body is called

BT i AR & Teg Rar Y 3R 71 ol hgd &
[Question ID = 182]

(A)  Abduction / gsgerr [Option ID = 1125]
(B) Adduction / 3rge= [Option ID = 1126]
(C) Inversion / Tas’ [Option ID = 1127]
(D) Eversion / 3asi [Option ID = 1128]

Correct Answer:-
(B) Adduction / 3rea=M [1126]

83. The first aid measure to be taken to stop bleeding due to epistaxis

TR R & RUT gl ThHATd vl Ak o T Tmafies Rifercar Iura &
[Question ID = 183]

(A) Make the person sit down, lean backward and pinch soft part of nose / &fh @t fosr, tie &t 3k gk
3R AT & 7 g )R gél R [Option ID = 1129]

(B) Make the person sit down, lean forward and pinch soft part of the nose / @fth @t fda™, Mt &t 3R
goh 3R ATk & 7 g IR & 9* [Option ID = 1130]

(C) Make the person lie down and pinch the soft part of nose / @fth & wield 3R AT & A ffW W I W
[Option ID = 1131]

(D) Make the person lie downand pinch the top part of nose / &fth @t @eTg 3R A1 & FUT e R & R
[Option ID = 1132]

Correct Answer:-

(B) Make the person sit down, lean forward and pinch soft part of the nose / &k @t [/, 3Tt &t 7R geh 3R
ATk o = e wR el W [1130]

84. According to MTP act the following are indications for terminating pregnancy before viability except

TSt S & srgaR FAfafad cagriar & gd Tviaeen ot gard st o efefad ddhd &
[Question ID = 184]

(A) Severe cardiac disease [ T*fR g&a 7 [Option ID = 1133]

(B) Chromosomal abnormality / ORIt [Option ID = 1134]
(C) Pregnancy due to rape / SR & BHRUT THTEGRAT [Option ID = 1135]
(D) Unplanned pregnancy / sifS@ifSid mfazam [Option ID = 1136]

Correct Answer:-
(D) Unplanned pregnancy / siaifSid mfaeer [1136]

85. Chemicals that reduce or inhibit the transmission or perception of pain is
T STt OYeT o TTROT AT S ol hd AT A el &
[Question ID = 185]

(A) Prostaglandnins / Weree-E [Option ID = 1137]
(B) Leukotrienes / qepifegad [Option ID = 1138]
(C) Endorphins / g8ifth [Option ID = 1139]
(D) Serotonins / elf= [Option ID = 1140]

Correct Answer:-

(C) Endorphins / gSifth [1139]
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86. The factors that results in increasing the serum osmolality are all except
PR [SIHeh URUMHAEEY TRA diTeleferct d gig gidt 8, 3 9+t 8, Rama fh
[Question ID = 186]

(A) Diabetes insipidus / rafaéist sfRaftred [Option ID = 1141]
(B) Uremia / 381 [Option ID = 1142]

(C) Hyperglycemia / grgurargdfaar [Option ID = 1143]

(D) Renal failure / ¢ &t fatherar [Option ID = 1144]

Correct Answer:-

(D) Renal failure / & &I fatherar [1144]

87. The characteristics of fluid volume deficit includes all except
TR UeTef i AT H Rt Y faivarett # goft enfae €, e fh
[Question ID = 187]

(A) Decreased skin turgor / a1 @hid & &t [Option ID = 1145]

(B) Postural hypotension / GR&R ggulee [Option ID = 1146]

(C) Increased temperature / a#HE # gfg [Option ID = 1147]

(D) Increased central venous pressure [ e fRRTURe &ama & gfg [Option ID = 1148]

Correct Answer:-
(D) Increased central venous pressure [ hdr fRRTIRek gama & gfeg [1148]

88. The systemic complications of intravenous therapy includes all except
ST iR i uoTeitTa Sifeerarett & ot enfae €, fam fh
[Question ID = 188]

(A)  Fluid Overload / za 3tf&9R [Option ID = 1149]

(B) Air Embolism / arg @ 3f=d: 1edd1 [Option ID = 1150]
(C) Infection [/ dshHuT [Option ID = 1151]

(D) Infiltration / 3/ [Option ID = 1152]

Correct Answer:-
(D) Infiltration / 3fRkede™ [1152]

89. A 30year old man is brought to emergency with history of accident. Which of the following sign
indicates skull fracture
Teh 30 aNTT A<k i gt & 38T & AT SMUTddhle AT & T Sirar g | 77 & & ol 91 Hoha @WiuS! & Sharer il
HUGKCTGI§
[Question ID = 189]

(A)  Fluid draining from ear or nose, periorbital ecchymosis / @ a1 AT ¥ a=et yaref a1 Feper, TRSHffeea
ufhaifag [Option ID = 1153]

(B) Blood from nose, blood from forehead / =Tes & &=, ATd @ T [Option ID = 1154]

(C) Battle sign, Kernigs sign / sed Tehd, &g Tahd [Option ID = 1155]

(D) None of the above / 3tRi<h & & @13 &l [Option ID = 1156]

Correct Answer:-
(A) Fluid draining from ear or nose, periorbital ecchymosis / & T ATeh & dzet gard 1 fAcher, dRksiifded

ufrmfag [1153]
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90. A type of presentation in which the fetal buttocks presents at the pelvic inlet and the denominator is
sacrum is called as

Teh UehR &Y o forad yor & Fide sifor giete & Sufed g1 & ofk wistes ot RemfY giar, 38 et sTrar @
[Question ID = 190]

(A) Vertex Presentation [ a&ag Usies [Option ID = 1157]

(B) Breech Presentation / sf gsi¢s [Option ID = 1158]

(C) Knee Presentation / f dsiés™ [Option ID = 1159]

(D) Footling Presentation / efei Usie™ [Option ID = 1160]

Correct Answer:-
(B) Breech Presentation / st 0i¢s [1158]

91.  Which of the following is the most important nursing action that has to done for a patient who has
undergone cardiac catheterization

ffeifed 7 9 o @ 999 Agaygu AT fohar & O srféae sfiegeiee 9 Tor I & g oer gear @
[Question ID = 191]

(A) Check for pulse deficit / ATl &t et 8g Sifa @eaT [Option ID = 1161]

(B) Elevate the head end of bed / fa=aR & @R & R &t U= I&T1 [Option ID = 1162]

(C) Assess the catheterization site for bleeding / ThaTa & forg HhfiRTESIaM TT8e I 3MTehe &=AT [Option
ID = 1163]

(D) Provide a bed cradle / &8 thad UaM &A1 [Option ID = 1164]

Correct Answer:-
(C) Assess the catheterization site for bleeding / T o g HRRISSIAA ATEE T 3MTher BT [1163]

92. Anurseis assigned to take of a patient with multiple sclerosis. The priority nursing diagnosis for the
patient would be

A IUeT ThetI T oh I hT S@HTA ahT hTH Y bt HT9T STTaT g | W & ferg uruffepdr A e ghm
[Question ID = 192]

(A) Impaired urinary elimination / ferTer g3 9 IS [Option ID = 1165]
(B) Altered body temperature / RRR & argd= & uRad- [Option ID = 1166]
(C) Deficient knowledge / awguf 3= [Option ID = 1167]

(D) Impaired mobility / T&=Ta fasfierdr [Option ID = 1168]

Correct Answer:-
(A) Impaired urinary elimination / fSRTST g31T I3 I&wi [1165]

93. The indication for a newborn to be given positive pressure ventilation soon after birth is when
Qeh AgSTd fRAY] ol ST+H & Jid G YhRIcH &aTd Al §T ST &l Hohd 8, STd
[Question ID = 193]

(A) Heart rate <100 beats/minute / g&a i & <100 dfie / e [Option ID = 1169]
(B) Cyanosis in baby / f1g] & @ra=if&w [Option ID = 1170]

(C) spo2 below 95% / 95% & ==t gadtan2 [Option ID = 1171]

(D) Baby is not crying at birth / 5= & & f13] 18f ¥ %871 & [Option ID = 1172]

Correct Answer:-
(A) Heart rate <100 beats/minute / g&a & & <100 dte / fB-e [1169]
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94. Inarestaurant a person suddenly collapses, choking while eating food. The ideal method to clear the
airway is to use which of the following methods
TR H Y Afch @1 @Td 99 3f=T-eh IR STraT 8, &d gear 81 Refaf@a d 4 forg fafer svr suahr argant et a1t A
& ot fafd @
[Question ID = 194]

(A) Jaw thrust manuevre [ S@S R SR &A1 [Option ID = 1173]

(B) Head tilt chin lift manuevre / f&R &t g1 BI! @t SaT1 38T [Option ID = 1174]
(C) Heimlich manuevre / gmfera agax [Option ID = 1175]

(D) Valsalva manuevre [ gei¥&cdr AgeR [Option ID = 1176]

Correct Answer:-

(C) Heimlich manuevre / gtafera AgaR [1175]

95. The formula for calculating mean arterial pressure is
wTen eHAY ETel chl TUTT & T &
[Question ID = 195]

(A) Diastolic BP + systolic BP/ 3 / S™<eiferes afidt + faeiferas afidt/3 [Option ID = 1177]

(B) Diastolic BP + 2( systolic BP) / 4 | sra<eiferes dfidt + 2 (Reiferes didt) / 4 [Option ID = 1178]
(C) Systolic BP + Diastolic BP/2 / fa=<ifera sfidt + Sraelferas it/ 2 [Option ID = 1179]

(D) Systolic BP + 2(Diastolic BP)/3 / frifera sfidt + 2 (emaweifere dfidt) / 3 [Option ID = 1180]

Correct Answer:-

(D) Systolic BP + 2(Diastolic BP)/3 / Rizifcres dfidt + 2 (sraeiferas sfidt) / 3 [1180]

96. In compensatory stage of shock, the patients blood pressure remains within normal limits. The factors
that contribute to maintain adequate cardiac output are

TR & ufyzes a=oT &, W 1 Toham Qe I & fiaR T@ar &1 uaTd ged 31T3eye vt 91T T@ H TRTEM dhet arat
HRE &
[Question ID = 196]

(A) Increased contractility of the heart / gaa @i St g3 Hganefierdr [Option ID = 1181]
(B) Vasoconstriction / areteif=ga=™ [Option ID = 1182]

(C) Increased heart rate / &g & # gfg [Option ID = 1183]

(D) Increased movement of extremities / g14-Uid &l I¢t g3 g-raai= [Option ID = 1184]

Correct Answer:-
(D) Increased movement of extremities / gT4-Uid &l St g3 go-ae [1184]

97. Therole of a nurse in treating a patient in compensatory stage of shock is all except
A o ufdgzes =Ro1 H Ueh Al & IUAR J Geh 7 < ffient g+t ¢, g fh
[Question ID = 197]

(A) Monitor patient’s hemodynamic status / I &t grTe-THS fRfT FH IR FeT1 [Option ID = 1185]
(B) Promote patient safety / it &t gr&i eht aigrar &A1 [Option ID = 1186]

(C) Administer prescribed 1V fluids and medications / RafRa smddt azer uaref ok garsit &1 g &
[Option ID = 1187]

(D) Provide health education / TmRez f1efr U™ &=AT [Option ID = 1188]

Correct Answer:-
(D) Provide health education / ez f&m Ue &1 [1188]
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98. Unreversed hypovolemic shock progresses to which of the following types of shock

3uRafdd gsuaia@e ife AT TR & geit 7 § fohg ik 3mit STram @
[Question ID = 198]

(A)  Anaphylactic shock / gTfthciferes ifer [Option ID = 1189]
(B) Cardiogenic shock / @rf&atsifes aifer [Option ID = 1190]
(C) Septic shock / @fcee 21t [Option ID = 1191]
(D) Neurogenic shock / =ggsifse 2ifes [Option ID = 1192]

Correct Answer:-
(B) Cardiogenic shock / @ifSarsifAes ife [1190]

99. The vaccine that is administered after exposure is
feent fS8 srTeRUT & aTe fea Sirar @
[Question ID = 199]

(A) Measles [ @& [Option ID = 1193]
(B) Typhoid / grgtrss [Option ID = 1194]
(C) Mumps / 778 [Option ID = 1195]
(D) Rabies / &tst [Option ID = 1196]

Correct Answer:-
(D) Rabies / &S [1196]

100. The Complications that are associated with poor nutrition and growth restriction in postnatal life in a
newborn include

Ferstrd A H ST & a1e & St | [efer giwor iR farenra ufdeiy & St Sifeerarsit # nfae €
[Question ID = 200]

(

>

) Stunting / ®fé&T [Option ID = 1197]
(B) Wasting / af&T [Option ID = 1198]
(C) Adverse neurodevelopmental outcome / Ufdcget =Rt - faerareres aRRoma [Option ID = 1199]
(D) All the above / IWRi<h & gt [Option ID = 1200]

Correct Answer:-
(D) All the above / IuRI<h & Taft [1200]
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